
Cancer is like a bad driver 

Goal: Create an analogy that explains cancer cells as being like bad drivers that don’t acknowledge the stop 
signs. 

 

Create side by side graphics with texts. 

Bad Driver 
• Show a car (cell) 
• Show roads and lights that would act like 

checkpoints. 
• Show the consequences of running the red 

lights causing an accident  which is like a 
tumor. 

Cancer Cell 
• Show cell cycle 
• Show checkpoints on the cell cycle 
• Describe what happens at each step in the 

cell cycle 
• Describe how a cancer cell bypasses the 

checkpoints. 
• Show consequence of cancer creating a 

tumor. 
 


